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Subtract With Unlike Denominators

1 5 _
Subtract. 42 - 23 =n

Date

of the denominators.

Multiples of 4: 4, 8,(2) 16, 20, . ..

LCM =12

Step 1: Find the least common multiple (LCM)

Multiples of 6: 6,(2) 18, 24, 30, . ..

Step 2: Write equivalent fractions with the LCM
as the denominator.

if needed.
3 < 10 Rename 1 one as %
1 3 15
41 = 4@ = 3§

5 _ 5,10 _ 510
—26 =275 = 2795

Step 3: Compare the numerators and rename

Step 4: Subtract the numerators and the whole
numbers. Then write the answer in simplest form.

4y —22 =13

Find each difference. Write your answer in simplest form. Rename if needed.

/ 5 2 4
1. 8 16 2. 3 9
5 1 5
5 12 6 6 8 1
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3.

3 1

472

4 1
49756
4 1
8 55~ 13
3 5
12. 1135 — 65

Use with text pages 116—-119.
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Solving
Subtract with Unlike Denominators 5.4

Use the table to solve Problems 1-5. Give answers in simplest form.

Paper Clips Length Weight
Standard (Metal) 13—72 in. % oz
Standard (Vinyl-Coated) 1% in. % oz
Large 1% in. % 0oz
Jumbo 3% in. 11§ 0z
Show Your Work

1. How much longer is a jumbo paper clip
than a large paper clip?

2. How much heavier is a jumbo paper clip
than a large paper clip?

3. How much weight does the vinyl coating
add to a standard paper clip?

4. Petra wants to know how much longer a
vinyl-coated paper clip is than a metal
one. Here is her work:

3 a1

5 7 _ 410 . 7 3
6 "1z =113 =33 = 12
Where did Petra make a mistake? How
can she correct her error?

5. Which is heavier: a chain of 7 standard
metal paper clips or one jumbo paper
clip? Explain how you found your answer.

Copyright © Houghton Mifflin Company. All rights reserved. Use With text pages 1 16_1 1 9




